N
SHEAR WALL
PER PLAN.
2x STUDS @ 16”0.c.
HOLDOWN TYPICAL.
PER _u_.>z.‘/
NR:s
_ [l _ |
E.N. = \ %
\ﬁ\a-z
_
POST E.N.
PER PLAN.
SHEAR WALL
PER PLAN.
NOTE: EXTEND
PLYWOOD OVER
POST.

NOTE: SAME APPLICATION
FOR STRAP HOLDOWN

HOLDOWN

PER v_.>z.f/
Y

POST
PER PLAN.

SHEAR WALL
PER PLAN.

2x STUDS @ 16”o.c.
TYPICAL.

il 1

E.N
P b |

SHEAR WALL
PER PLAN.

NOTE: EXTEND
PLYWOOD OVER
POST.

PLAN VIEW

TOP OF SLAB ON

(E) CONC. SLAB

TO REMAIN

GRADE SEE _u_.>z|/ \‘

(E) CONC. FOOTING

TO REMAIN

FOR SIZE & REINF’G.

CLEAN & ROUGHEN
EXISTING SURFACE

NOTE: SAME APPLICATION
FOR STRAP HOLDOWN

NEW FOOTING SEE PLAN /

2— #4 DOWELS x 30” LONG
TOP & BOTTOM (EPOXY GROUT)

=I=1E
==
6” MIN.

EMBED

NOTES :

SHEAR WALL

BOUNDARY ELEMENT

MAINTAINT g
7 BOLT DIA.

x

e

2x OR 3x SILL PLATE
/ PER PLAN

Le

-

* .EMBED PER
. _SCHEDULE .

]

<

>

SIMPSON HOLDOWN
PLAN

— EXISTING CONCRETE

FOUNDATION

HOLDOWN SCHEDULE

HOLDOWN (THREADED ROD | EMBED. [ALLOWABLE TENSION
HD2A 5/8” DIA. 127 3820 #

HD5A & 6A| 3/4” DIA. 14" 4345 #
HD8A 7/8” DIA. 16” 5085 #

1. SET THREADED ROD W/
SIMPSON SET22 EPOXY PER
NOTES ON S—1 (LARR #25279)
SEE DETAIL 3/S3.0 FOR EDGE
DISTANCE REQUIREMENTS

(1 3/4” MIN. REQUIRED)

2. SPECIAL INSPECTION REQUIRED.
3. ROD SHOULD BE "ASTM A307 OR A36”.

NOTE: SPECIAL INSPECTION REQ’D
FOR EPOXY ANCHOR BOLTS

SPACING
PER SCHEDULE

PER PLAN

APPROVED EPOXY
PER S—1 NOTES

\|
/.,

EDGE DISTANCE
PER SCHEDULE
(1 3/4” MIN. REQUIRED)

. a a - u . L A
=7 4 '@ C @ T a4~ N

. m ¢ | = —EMBEDMENT PER
N L sCHEDULE

2 .
< . 4 ‘ a e ]
R
//’ EXISTING
CONCRETE
PLAN VIEW ELEVATION
>rwmeme__wmo BAR SIZE | EMBEDMENT | SPACING | EDGE DISTANCE
1/2"8 & 5/8"8| #4 & #5 6” MIN. 8” MIN. 2” MIN.
u\#:& #6 8” MIN. 12” MIN. 2 ,_\N.:. MIN.
M\m:& #7 8” MIN. 12” MIN. 2 ,_\N.:. MIN.

REVISIONS

[2>|[>] [>] >

HOLDOWN DETAIL

HOLDOWN DETAIL

4

(N) TO (E) FOUNDATION

HOLDOWN TO (E) FDN.

2

EPOXY CONN. TO (E) CONCRETE

o¥ *6d 47 %%
7 ¢- ! |
N N MIN. DETAILING
o DIMENSION
HOLDOWN SCHEDULE 3
_ DETAILING
T
SHEAR WALL SEE PLAN MODEL NO. mmww DIA. WASHER EMBED | CAPACITY | AT 75% 5 0 0 DIMENSION
HD2A " g 2” DIA 12” 27754 | 20814 . = .
5 - ; EDGE NAILING v POST _ 4 °
SAW CUT (E) STUD WALL PER PLAN HDSA 3/4” @ 2-1/4” DIA 14 4010# 3008# TO POST I/ PER PLAN d q q D
SLAB HD6A 7/8” & 2-1/2" DIA 16” 5105# 3829¢# SHEAR WALL HOLDOWN 4" 64 M )
— #4 DOWELS x 18” LONG. HDBA 7/8" 8 3" sQ. 18 74604 | SS954 PER PLAN ry \| SEE PLAN MIN. T ] ALTERNATE ENDS - >
2x OR 3x P.T. SILL at ,_m..0.0.. EMBED 6” HD10A N\m.. 4 UI,_\A.: SQ. 22" 9540# 71554 V;W_Zm._.%__lﬂ DIA " THREADED ROD \\l_Z ALL CASES \|/
PLATE w/ A. BOLTS & MIN. & SET WITH EPOXY HD14A 1” 8 3-1/2" DIA | 28" 11080 8310 SEE SCHEDULE N
PLATE WASHERS PER / # # \_J \ D= 6d FOR #3—#8 »
PLAN & SCHEDULE #\Amv SLAB ON GRADE D= &d FOR #9—f11 +—22 _NzA_AN
_ I D= 10d FOR #14—#18 .
2 ELN. B —
_ 3 SIS W S— e {l, =——r— COLUMN AND BEAM COLUMN AND BEAM BEAM AND GIRDER STANDARD HOOK DETAILS
= . NOTES: LA CITY REQUIREMENTS - __M| B | P SUPPLEMENTARY TIE TIE STIRRUP
: s |, A 1. SQUARE WASHERS SHALL BE 1/4” MIN. 1. APPROVED PLATE WASHERS SHALL BE USED =HETEM " | . s
= T ==E ROUND WASHERS 1/8" MIN. ON HOLDOWN POSTS ON OPPOSITE SIDE OF _IE|E|E = = . LAP LENGTH SCHEDULE
= v = I=HEE ==
_ . M= 2. SIMPSON STRONG TIE I.C.B.0. #4448/NER 393 HOLDOWN. SEE SCHEDULE ON FOUNDATION PLAN. — UNCOATED 5 OXT COATED
18" 4 Y 469/L.A.R.R. #24818, #25158. 2 2_CLR. 4 . CLASS C - . - .
...n — # 4 SLAB DOWELS at @ TYP. . e INCREASE FOOTING BOTTOM BAR SIZE 2,500 psi 3,000 psi 2,500 psi 3,000 psi ._._m.m >IZU STIRRUPS ONLY
? 16”0.C. ALT. BEND 3. ROD SHOULD BE ASTM A307 OR A36. & 11 <74 DEPTH IF REQ'D (IN.) (IN.) (IN.) (IN.) “w wu M_.A\N
3" CLR 2 - .-|T. la® | TO MAINTAIN EMBED _ #5 30 31 54 47 b .
o f 4. TIGHTEN ALL BOLTS PRIOR TO COVERING. 0= q B 4 . #5: D= 2 1/2
ol 2—#4 CONT. TOP & = FRAME COLUMN & GIRDER #6 36 37 64 56 #6: D= 4 1/2”
< 4 BOTT. & #4 CONT. at 5. BOLT HOLES IN POST TO BE 1/16” LARGER 6 DIA. MIN. } NOTE: SEE PLAN AND TIE LAP DETAIL #7 42 54 94 81
1870.C. (HORIZ.) THAN BOLT. INSPECTOR TO VERIFY. INCREASE FOOTING : NOTE: TIE_NOTES:
WIDTH TO MAINTAIN FOUNDATION DETAILS THIS TIE LAP DETAIL IS #3 48 62 107 93 *1.  PROVIDE 10d EXTENSIONS IN LIEU OF 6d
6. SIMPSON "SSTB” ANCHOR BOLTS MAY BE COVER AS REQ’D. PR ANCE OF NOT PERMISSABLE FOR #9 54 70 121 105 ) \>N_u._.n FRAWE COLUMNS AND GIRDERS.
6" MIN. SUBSTITUTED WITH SPECIAL DEPUTY INSPECTION. OUTER TIES. 410 50 79 136 118 . .
FOUNDATION DETAIL 10 HOLDOWN ANCHOR DETAIL 8 TYP. STD. HOOK, TIE DETAIL & LAP SCHEDULE 6
2x OR 3x P.T. SILL PLATE
w/ A. BOLTS & PLATE WASHERS -
PER PLAN & SHEARWALL 2%x14 STRINGER MIN.
SCHEDULE. EMBED A.B. 8” MIN— SHEAR WALL ARCH’L. SEE PLAN
TO CONCRETE SEE PLAN @ SEE ARCH’L FOR FINISH
i AND SHEARWALL SCHED.
] 2— 2x8 P.T. SILL PLATES .
o cuT (E) 2-#4 x 30" LONG PER PLAN EPOXY IN PLACE STUD WALL n| 8 w/ 1/2” DiA. A. BOLTS WHERE OCCURS
— #4 DOWELS x 18” LONG OF FoOTG,  EMBE PER PLAN ) at 1270.C. (2) 2x sTUD @ 16” O.C. v
X : OF FOOTING. EMBED 6” P UN.O
at 16”0.C., EMBED 6” & EPOXY GROUT » R E) SLAB ON 2x BLOCKING . -—0
MIN. & SET WITH EPOXY \\l o mxv%m SEE PLAN \ E.N N (3) 2x SILL_PL. W/ HILTI POWER
E) SLAB ON GRADE (E) SLAB COLUMN BASE f - \ : =t =-N- SIMPSON ”A35 (E) SLAB ON GRADE PIN .145x3” LG. @ 24” 0.C.
’\A ) ON GRADE e w! -, — ] g AT EACH STRINGER (ICBO No. 1290)
i e N R, i NE- SV (@ conc. sias @
) - - : . (R . =
Lo 3 = L s — &1 L fo— —N ) Flie PN
ENERIDRETRRIE P 2 T T T o T T — - - — _ — : —
TN R LT ___M_____W__E”E < | . HE”Eﬂ_____M____ = . L = _HI__E ____ﬁ 0\ 2 4 _____E__T”_ . —3
= - | - [EEIF == .+ Y. . [ [EllET .= 18” ==~ o JIIEIIE =l CpllE 2
—— —— . —— —— — — B v - R — T | [} _____ . — = \
I==E === =il . S 3 4
==, - |- (IITEAINE M : . . HE Mo alg ¥ “% . I
9 bkw’\ . [ ] ® " - | r/ . . ) . .m UZ J 4
'® “ e # 4 SLAB DOWELS at . S P T #4 SLAB DOWELS 3” A ”_ - _
© oL T 16”0.C. ALT. BEND / I;m”ﬂ e | 4 @ 16”0.c. CLR. d .II.______W%_H_.
, . T . X NL.: H F
S N SEE PLAN o @ . i
o [ @ 2—#4 CONT. TOP & : e \
< mo#. & #4 CONT. af SEE PLAN FOR REINFORCING /A (2) #4 & #4 DOWELS EPOXY
1870.C. (HORIZ.) / #4 @ 127 O.C. SEE PLAN 6” MIN. INTO (E)
SLAB
(2) #4 CONT. TOP & BOTT.
16” MIN.

PER PLAN

FOUNDATION DETAIL

15

FOUNDATION DETAIL

14

FOUNDATION DETAIL

13

STAIR STRINGER TO FOOTING

12

TYP. NON BEARING WALL CONN.

11

(E) C.M.U. WALL e

ST

—=———2x STUDS W/ MOISTURE PROTECTION

AT CONCRETE WALL SIDE &

(N) PLYWOOD PER
PLAN & SHEARWALL SCHEDULE

1/2” AIR GAP

2x PLATE WITH A.B.
PER PLAN & SHEARWALL SCHEDULE
EMBED A.B. PER DETAIL 1/S3.0

=M [

N

A=z

S
4

4

(E) SLAB ON GRADE

=
-
O
& ¢
a0 <
w
— S8z
O S84
v o2
0 = 7
<
oo =
O <
Mgmm.
< St
5 &
O
2 3
=
o))
-
[
0
=
—
p—
o p—
m .
A <«
B
M o
Q
223
.1NK,
tMR
4 E X
XHM
B 5=
ol=
>~ 2 Z
L' = O
5 o
O
as
!S
-
<
=
@)
&
PROFESSIONAL SEAL

DATE: 05/16/08

SCALE: AS SHOWN

DRAWN:

JOB NUMBER: 08033

DRAWING NAME

CONCRETE &
FOUNDATION
DETAILS

20

NOT USED

NOT USED

19

NOT USED

18

NOT USED

17

FOUNDATION DETAIL

16

SHEET




